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QUESTION 1

Cardiac muscles exhibit which of these features?

A. striated, involuntary, intercalated discs not present
B. striated, involuntary, intercalated discs present

C. striated, voluntary, intercalated discs present

D. unstriated, involuntary, intercalated discs present

Correct Answer: B

QUESTION 2

Large lymphatic trunks unite to form which two main vessels of the lymphatic system?
A. thoracic duct and superior vena cava

B. right lymphatic duct and thoracic duct

C. left lymphatic duct and thoracic duct

D. right lymphatic duct and left subclavian vein

Correct Answer: B

QUESTION 3

What causes a moving body to resist a change in its state of motion?
A. its momentum

B. its speed

C. its acceleration

D. its inertia

Correct Answer: D

QUESTION 4
A ball is tied to a pole with a rope and is moving in a circle with constant speed.
Which of these statements about the ball is true?

A. Force is acting away from the center of circle.
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B. Force is acting at a tangent to the circle.
C. There is no acceleration.
D. There is force acting toward the center of circle.

Correct Answer: D

QUESTION 5

Which of the following correctly lists the cellular hierarchy from the simplest to the most complex structure?
A. organ system, organism, organ, tissue, cell

B. cell, tissue, organ, organ system, organism

C. tissue, cell, organ, organ system, organism

D. organism, organ system, organ, tissue, cell

Correct Answer: B

The cellular hierarchy starts with the cell, the simplest structure, and progresses to organisms, the most complex
structures.
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